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EERRE 8.1 #£4 A=1{1,2,3,4,5},B=1{6,7,8}
LT, BB f: A - B% f(1) = 6,f(2) =
6,f(3) = 7,f(4) = 7,f(5) = 8 TEHTS. Z0D
L&, MOEHHMNZ2B0? TOEEZETRTI
RpI e (AMEER) ITEDEX K.

1 f({1,2}). 2. f({1,2,3}).

3. f({1,2,3,4}). 4. f({1,2,3,4,5}).
5. f({2}). 6. f1({6}).

7. 716, 7}). 8. f71({6,7,8}).
9. f71({7,8}). 10. f71({6,8}).

EEME 8.2 #£4 A= {1,2,3},B = {4,5,6,7},
C={89}icdLT, B f: A— B% f(l) =
5, f(2)=4,f3)=77T, B g: B—-C%g4) =
8,9(5) = 9,9(6) =9,9(7) =8 TEHT 5. ZD&
E, gof: A= ClEEDEIOBREBRTHENT? TR
TDac AZKUT (go f)(a) BMATHZDED K.

EEME 8.3 TEDOEA A B, REDEH/ f. A—
B, TEOES X, X' CAITHLT,
XCcX'  #mold f(X)CfX)

LRd Z  eREAE K.

BINMERE 8.4 4 A, B,C% A=1{1,23}, B=
{4,5,6,7}, C = {8,9,10} LEHT 5. B f: A —
B% f(1)=5,f(2) =5,f(3) =6 CEHT 5. Ffk
g:B—=C%g(4) =8,9(5) =8,9(6) =9,9(7) = 10
TEHTD. Z0LE, ROEEVRENTNMTH
20, TOERETRTIUARSD L (AMERTEHE) 12
FVEZL.

1. f({1,2,3}). 2. f({1,2}).
3. g({4,5,6}). 4. g({5,6,7}).
5. f71({4,5}). 6. f~1({4,5,6,7}).

A FR
7. 971 ({8,9}). 8. g7'({8,9,10}).
9. N1 3}) 10. f~H (g7 ({8,9})).
11. £(0). 12. g~ 1(0).

BINMERE 8.5 LEDESE A B, TREOEH f: A—

B, fEOWAHELE X, X' CAIZHLT
FXNX') C f(X)n f(X)

MK DD Z & & HFHE K.

BINFERE 8.6 (TEOEA A B, TEDEH/ f: A —

B, TROHHEEY, Y CBIZXLT

YCY Aol (YY) C iy

BT EEDPIRD DI L EFEHE K.

BINMERE 8.7 (LEDOHEA A B, RO f: A—
B, EROHOEAS X CAITHLT

X C fAHf(X)
A 1D T ¥ & FENIE &

JBANRSRE 8.8 EEDES A, B,C, HEDEM f: A —
B,g:B—C, FEOELHZCCIZRLT,

(9o /)71 (2) =97 (2))

MDD Z L EGAE L. (v b EEEES720
2, £, ZOMEIZEINTWEESN A, B, C
DHFDOENDHNEESTHLD0, HEE L. A
EHEFTBICE, (9of) N2 S o (2) &
fH971(2)) € (g0 f)~H(2) < ITFEIT NiE &
A

EmMEE (X8) 8.9 TLEDOES A, B,C, TED

B f: A— B,g:B— C, TEDOEA X C A,

Z CCiZxRLT,
fX)Cg M2 moiE

MDD & RFE X, (B2 b
(A a—7) ITHE. )

(go N)X)C Z

R DE K



